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4. a=5x729"4 w, 277 & qof Rt A o= LERHH?

a=>5x729"=5x(35)* =5 x 35

a
_:36x:33x2
: (3

L= (9)°

2T =33 = (g)%




=3 =64, 6 g2t x>0, y>0, z>0)
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2¢ =3 = 6o A
2" = 67, (29)% = (69)% .. 6% =2
(

Y =6, (3)
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log, 9 =

® 3
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B ek 9] 4o
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7.

log, 2 + logg 4 — log; 8 9] #427?

1 1
®_E ®_§ ®E

@ 1

k]
12

B

logyz 2 4 10ggs 2% — logya 2
1 2 3 6+8-9
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B 1T 12
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logy 4 < logy 7 < logy 8
so2<logy 7T<3

web, log, 79] A4 a =2,
2% BEHo| go]B2 a2 HEO

b:log27—2:10g27—10g24:10g2ZZ

7
logy —
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9.  a,xy7t g A5ola A =log, x% - log, y®, B = log, y* — log, x> 4
o, = 5 24+ 3B 22 A2(H,a# 1)

1 1 1
®D)log, —= @ log, = ® log, —
X y Xy
x° x°
@ loga 5 @ loga 7
y y

A =log, x* —log, y* = 2log, x — 3log, y

B = log, y* — log, x> = 2log, y — 3log, x

2. 2A 4+ 3B = 2(2log, x — 3log, y) + 3(2log, x — 3log, x)
1

= —5log, x = log, x® = log, —
x




10. 19°] ofd ¥4 p&t Al &5 x, y, zoll tiste] log, x + 2log,2 y +
3log,ez=-37F 4HT W, xyz 9] #27

@~ o~ o @2 6P
“p 2p

N | =

log, x +2log,» y + 3logs z
2 3
= log, x + ilogpy+ 3 log, z
= log, xyz = -3
31

Lxyz=pC = —
PE




11.

log(314xA) =1.0471 ¢ W, FF AQ S hS A E2IRE

Stof gk A7
& 0 1 2 3 4 5
3.0 | 4771 | 4786 | 4800 | .4814 | .4829 | .4843
3.1 | 4914 | 4928 | 4942 | .4955 | .4969 | .4983
3.2 | .5051 | .5065 | .5079 | .5092 | .5105 | .5119
3.3 | .5b185 | .5b198 | 5211 | .5224 | .5326 | .5250
3.4 | .5315 | .5b328 | .5340 | .5353 | .5366 | .5378
3.5 | .b441 | .5435 | .5465 | .5478 | .5490 | .5502

@D 0.3020 ©2)0.355 ® 1.35

@ 2.30 ® 2.33

o

B

= —0.4498
= -1+ 0.5502

olct,

log(31.4 X A) = 1.0471 9] A
log31.4 +logA = 1.0471
logA = 1.0471 —log 31.4
= 1.0471 — (1 + log 3.14)
= 1.0471 — (1 + 0.4969) (.. 213 A log 3.14 = 0.4969)

84 FolA 2I1FA log3.55 = 0.5502°] 22 A = 0.355




o]
=

5to] log A = —2.341
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12.

ﬂmo

ﬂ_mo

..__,Alo

ﬂmo

(-2-1) + (1-0.341)

-2.341 =-2-0.341

-3 + 0.659




13. log4.02 = 0.6042 < W, log 402010 0] A= REI} 4g HE
T-stofzt,

Ale| 2

o

> E:

> Heh 36, 0.042

B ~

log 402010 = 101og 4020
= 101log(4.02 x 1000)

= 10(log 4.02 + log 1000)
= 10(0.6042 + 3)

=10 x 3.6042 = 36.042




14.

o lPHEHE h719L x(mmHg), YR EEE (°C) 2 47
& ul, wa7] eao] AT TE h(m) L THeT 2L BAL o=

gk gtk
760
h = (30t 4+ 8000) log —
x

7192 15.2mmHg, QF-25E -30°C = A< wf, B|347] 2340
A% 17t amolt). olnf, ¢ 9] FH2? (T, log2 = 0.3 22 A4t
gtet)

@D 11070 @)12070 ® 13070
@ 14070 ® 15070

B ‘

h=a, t=-30, x=1520]22
760
a = {30 X (~30) + 8000} log =
= 7100log 50 = 7100(log 100 — log 2)

— 7100 x 1.7 = 12070(m)




15.

1.0| .0000| .0043| .0086| .0128| .0170| .0212 .0253| .0294( .0334| .0374
1.1| .0414] .0453| .0492| .0531] .0569| .0607| .0645| .0682 .0719| .0755|
1.2] .0792| .0828 .0864| .0899 .0934| .0969| .1004| .1038| .1072| .1106
1.3| .1139) .1173| .1206| .1239| .1271| .1303| .1335| .1367| .1399| .1430
1.4| .1461) .1492| .1523| .1553| .1584| .1614| .1644| .1673| .1703| .1732

1.5| .1761) .1790| .1818| .1847| .1875| .1903| .1931| .1959| .1987| .2014
1.6| .2041] .2068| .2095| .2122| .2148| .2175| .2201| .2227| .2253| .2279
1.7| .2304] .2330] .2355| .2380| .2405| .2430| .2455| .2480| .2504| .2529)
1.8| .2553| .2577| .2601| .2625| .2648| .2672| .2695| .2718| .2742| .2765|

1.9| .2788| .2810] .2833| .2856| .2878| .2900| .2923| .2945| .2967| .2989

® 6 @7  ©)s @ 9 ® 10

A 7HE S aT oFAL, n AT A 3o =
3u o]/fo] Hrkil 5t a(1 + 0.15)" > 3a,
nlog1.15 > log 3
log 3 0.4771
n> =
log1.15  0.0607

8d ¥ A5 2 3u] o]4fo] Hrt.

=T7.8X XX




